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QUESTION 1

What state should the BCV be in for it to be accessed by a host? 

A. restored state 

B. synchronized state 

C. copy on first access state 

D. split state 

Correct Answer: D 

 

QUESTION 2

When creating a new Symmetrix logical volume with SMCLI, which unit can be used to specify the size? 

A. Cylinders 

B. Tracks 

C. Sectors 

D. Blockss 

Correct Answer: A 

 

QUESTION 3

How does Enginuity Consistency Assist (ECA) differ from PowerPath? 

A. ECA suspends I/O at the Symmetrix level; PowerPath suspends I/O at the host level. 

B. ECA suspends I/O at the host level; PowerPath suspends I/O at the Symmetrix level. 

C. ECA cannot suspend I/O for multiple hosts, but PowerPath can. 

D. ECA supports TimeFinder/Clone only; PowerPath supports TimeFinder/Clone and TimeFinder/Snap. 

Correct Answer: A 

 

QUESTION 4

How does TimeFinder emulation mode convert commands? 

A. Mirror commands are converted to Clone commands 

B. Snap commands are converted to Mirror commands 
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C. Mirror commands are converted to Snap commands 

D. Clone commands are converted to Mirror commands 

Correct Answer: B 

 

QUESTION 5

Which protection type gives the best performance? 

A. RAID 1 

B. RAID 5 (3+1) 

C. RAID 6 

D. RAID 5 (7+1) 

Correct Answer: A 
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